Formula for the area of a surface of revolution:

If y is a function of x, then 
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Where r(x) is the distance between the graph of f and the axis of revolution.

If x is a function of y, then 
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Where r(y) is the distance between the graph of g and the axis of revolution.

Answer 1

You can check any integral [image: image1.wmf]dx
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table to find the solution for the integral above.

Answer 2

To find the area of the surface, slice it in vertical slices (we'll integrate over x). Each slice can be thought of as a cylinder with height dx and base radius -x2 + 4x 

Then Area(slice)=dx*2 π *(-x2+4x). Here x changes between 0 and 4.

So now integrate: 

∫2 π (-x2+4x)dx (from 0 to 4)=

2 π  ∫(-x2+4x)dx (from 0 to 4)=

2 π (- x3/3+4x2/2)(from 0 to 4)=

2 π (- 43/3+4*42/2-0)=2π(64/6)=67.02 approximately
� EMBED Equation.3  ���
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